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SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
A=t 1,245,938 1,208,152 37,786
Bt ESS 1,225,938 1,188,152 37,786
YHes s 1,225,938 1,188,152 37,786
anE2EFAE FA2e 114,938 122,152 NT7,214
201 fer= 3| 107,290 113,655 26,365
2 3522l 107,290 113,655 26,365
OATZa=AIE 2l
3 92,840,000 92,840 9,205 26,365
206 =4I 7,648 8,497 2849
01 THZHI 7,648 8,497 2849
OaRZaEsAE A=545 F1Y
Zd 7,648,000 7,648 8,497 2849
AE28FAE B4 & A 300,000 270,000 30,000
401 AlEHIYL S THYI 300,000 270,000 30,000
01 Al&HI 300,000 270,000 30,000
OAZ2a=sAE | 22l & 2S3M
Z& 300,000,000 300,000 270,000 30,000
SHEXNS &= Mg X2 85,000 70,000 15,000
401 AIEHIZL 20| 85,000 70,000 15,000
01 AlEZHI 85,000 70,000 15,000
OsHEXNY AE &g A X
& 85,000,000 85,000 70,000 15,000




